Negative log likelihood Negative log likelihood

Negative log likelihood

¢ 400 o

o
100 8
£ 300
Q
X
75 ® =
2 200 °
2 ©
0 —3% 2 .
¢ ¥ 100 o o
(@]
25 o = o] . o °
Z Py )
& . 0 ® o0 o 0 ©
o0
0 d 1.5 2.0 25 3.0
0.0000 0.0025 0.0050 0.0075 0.0100
Relative transmission rate
Initial fraction of the new variant for the new variant
1500 ) ®
[ ] o
. Q400
° Q o
=
o =
1000 g 300 °
o =
(@]
° L2 200 °
[¢)]
500 =
= )
¢ S 100
% °
0 00. 0 ® o0 %000
0.00 0.25 0.50 0.75 40 50 60 70 80
Relative force of reinfection of P.1 Prevalence of the previous infection
150 o 6 o o o
100
[ ]
[ ]
[ ]
50 °
o °
[ ] [ ]
0 «°*
0.00 0.02 0.04 0.06 0.08

Intrinsic growth rate

3.5



